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1. The modern Periodic Table has...................

periods.

A. 7

B. 8

C. 18

D. 9

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_iJW29GOXRIwX
https://dl.doubtnut.com/l/_dW6gWJmNt1Oi


2. Elements in a period, all have the same

number of ............. in their atoms.

A. valence electrons

B. electron shells

C. valency

D. None of the above

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_dW6gWJmNt1Oi


3. Elements in a group, all have the same

number of................. .

A. electron shells

B. atomic number

C. outermost valence electrons

D. none of the above

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_4F1vFfCqqVC8
https://dl.doubtnut.com/l/_5H2NVITdhAMl


4. The metallic character........... in a group as

one moves from top to bottom.

A. increases

B. decreases

C. remains same

D. none of the above

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_5H2NVITdhAMl


5. The metallic character ............ in a period as

one moves from left to right.

A. decreases

B. increases

C. remains same

D. none of the above

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_u26SdfDGSgaL
https://dl.doubtnut.com/l/_H7a2sclartOW


6. The electronegativity of elements ..........

across the period and ........... down the group.

A. increases, increases

B. decreases, increases

C. increases, decreases

D. decreases, decreases

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_H7a2sclartOW


7. In general, non-metals are ..............

electronegative than metals.

A. less

B. more

C. equal

D. none of the above

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_5BlAIXWulEhe
https://dl.doubtnut.com/l/_6hnjmvzNif13


8. On moving from left to right in a given

period, the number of shells ..........

A. increases

B. remains the same

C. decreases

D. none of the above

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_6hnjmvzNif13


9. Across a period, the ionization potential .........

.

A. increases

B. decreases

C. remains the same

D. none of the above

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_97klViNbaExp
https://dl.doubtnut.com/l/_8w2vhDgVgp6n


10. Down the group, electron affinity...........

A. decreases

B. increases

C. remains same

D. none of the above

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_8w2vhDgVgp6n


11. In a group, the larger the atomic size of an

element, the............. metallic is the element.

A. more or less

B. same

C. less

D. more

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_l10mMBIw3DIa
https://dl.doubtnut.com/l/_DDGJHqpDQehS


12. Moving across a ............. of the periodic table,

the elements show increasing .............. character.

A. group, non-metallic

B. period, non-metallic

C. group, metallic

D. period, metallic

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_DDGJHqpDQehS


13. The energy required to remove an electron

from a neutral isolated gaseous atom and

convert it into a positively charged gaseous

ion is called.................

A. ionization potential

B. electronegativity

C. valency

D. electron affinity

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_jbdbU3igYD8z


View Text Solution

14. The properties of elements are periodic

function of their..............

A. both (b) and (c)

B. atomic mass

C. atomic number

D. valency

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_jbdbU3igYD8z
https://dl.doubtnut.com/l/_1ge8Cjkg8Xjl


15. The elements occupying left and right side

groups of periodic table are called ..............

elements.

A. special

B. common

C. representative

D. transition

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_1ge8Cjkg8Xjl
https://dl.doubtnut.com/l/_VuxQMkbkqVZd


16. If an element has a low ionization energy

then it is likely to be __________.

A. metallic

B. non-metallic

C. both (a) and (b)

D. electronegative

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_VuxQMkbkqVZd
https://dl.doubtnut.com/l/_DirmwrUtFI2W


17. If an element has seven electrons in its

outermost shell then it is likely to have the

______atomic size among all the elements in

the same period.

A. largest

B. smallest

C. same

D. both (a) and (b)

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_MB0IyeryX8UY


18. The most active metals are present in ...........

1 and 2 of the Periodic Table

A. Group

B. Period

C. Both (a) and (b)

D. None of these

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_MB0IyeryX8UY
https://dl.doubtnut.com/l/_8EchH1xo4v2t


19. The most reactive non-metals comprise

Group............ of the Periodic Table.

A. 14

B. 15

C. 16

D. 17

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_8EchH1xo4v2t
https://dl.doubtnut.com/l/_qx6WGF33fbvs


Multiple Choice Questions

1. The element with lowest ionization energy

among the following is:

A. Li

B. N

C. K

D. Rb

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_CIMjpeWrMhm5


2. Select the element in period 3 whose

electron affinity is zero:

A. Neon

B. Sulphur

C. Sodium

D. Argon

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_CIMjpeWrMhm5
https://dl.doubtnut.com/l/_OlTl4tPua89C


3. Arrange the following as per instruction

given in the brackets :K, CI, Na, S, Si increasing

order of atomic size)

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

K > Na > Si > S > Ci

K > Na > Si > > CI > S

Na > S > Cl > K > Si

Si > S > Cl > Na

https://dl.doubtnut.com/l/_cesGEwhxNlSH


4. Which of the following is the atomic

number of an element that forms basic oxide?

A. 18

B. 17

C. 19

D. 15

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_8aiZ7NBiwrde
https://dl.doubtnut.com/l/_9yMGSpvEyMYY


5. The most electronegative element from the

following elements is :

A. Magnesium

B. Chlorine

C. Aluminium

D. Sulphur

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_9yMGSpvEyMYY


6. Alkaline earth metals include:

A. Group 1 element

B. Group 2 element

C. Group 18 element

D. Group 17 element

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_cgIWnQaHwLOW


7. Identify the element belonging to third

period and 17th group of the periodic table.

A. Chlorine

B. Bromine

C. Sulphur

D. Silicon

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_xY2fP3CPVJ4P
https://dl.doubtnut.com/l/_Yi0aNBTOoP0s


8. If element 'X' forms a chloride with the

formula , then X would most likely

belong to the same group of the Modern

Periodic Table as:

A. Na

B. Br

C. Al

D. Mg

Answer: C

View Text Solution

XCI3

https://dl.doubtnut.com/l/_Yi0aNBTOoP0s


9. An element having electronic configuration

2, 8, 18, 3 belongs to which group of the

Modern Periodic Table?

A.  group

B.  group

C.  group

D.  group

Answer: A

View Text Solution

13th

3rd

18th

15th

https://dl.doubtnut.com/l/_Yi0aNBTOoP0s
https://dl.doubtnut.com/l/_3u8hFb15C5k0


10. Arrange the following as per instruction

given in the brackets: Cs, Na, Li, K, Rb

(Increasing order of metallic character)

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

Li < Na < K < Rb < Cs

Li < Na < Cs < K < Rb

K < Rb < Cs < Li < Na

Cs < LiNa < K < Rb

https://dl.doubtnut.com/l/_3u8hFb15C5k0
https://dl.doubtnut.com/l/_gFeWxTncnKFL


11. Arrange the following as per instruction

given in the brackets : CI, F, Br, I (Increasing

order of electron affinity)

A. 

B. 

C. 

D. 

Answer: B

Br < I < F < CI

I < Br < Cl < F

Br < Cl < I < F

F < C < Br < I

https://dl.doubtnut.com/l/_gFeWxTncnKFL
https://dl.doubtnut.com/l/_M5i616ODmysE


View Text Solution

12. Among the elements given below, the

element with the least electronegativity is:

A. Lithium

B. Carbon

C. Boron

D. Fluorine

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_M5i616ODmysE
https://dl.doubtnut.com/l/_ur2eOUDaeVw3


13. An element A belonging in Period 3 and

Group II will have

A. 3 shells and 2 valence electrons

B. 2 shells and 3 valence electrons

C. 3 shells and 3 valence electrons

D. 2 shells and 2 valence electrons

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_ur2eOUDaeVw3
https://dl.doubtnut.com/l/_hgElgTGr4WkC


14. In a group, the atomic size

A. Decreases from top to bottom

B. Increases from top to bottom

C. Remains same

D. First decreases then increases

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_1zj1C8NoYldY


15. The non-metals are present

A. On the left hand side of the periodic

table

B. On the right hand side of the periodic

table.

C. In the middle of the periodic table.

D. In the centre of the periodic table

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_8hsH9GnYkmHI


16. The atoms of elements belonging to the

same group of periodic table have the same:

A. Number of protons

B. Number of electrons

C. Number of neutrons

D. Number of valence electrons

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_8hsH9GnYkmHI
https://dl.doubtnut.com/l/_b258zXz3atTd


17. The metallic character of elements across

the period from left to right.

A. Increases

B. Decreases

C. Remains constant

D. First decreases than increases

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_dfl997iOD5B2
https://dl.doubtnut.com/l/_6SR8GdlrEwkd


18. The most distinctive property of the noble

gases is that they are:

A. Metallic

B. Metalloid

C. Radioactive

D. Unreactive

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_6SR8GdlrEwkd


19. Elements of Group 16 have 6 valence

electrons. The valency of Group 16 elements is:

A. 2

B. 6

C. 3

D. 5

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_agOvPXgb0XQR
https://dl.doubtnut.com/l/_rglpaoevKJ8W


20. Number of shells across the period:

A. Increases

B. Decreases

C. Remains same

D. All of above

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_rglpaoevKJ8W


21. The electronic configuration of an element

T is 2, 8,7. What is the group number of T?

A. Group 1

B. Group 17

C. Group 18

D. Group 2

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_5zdeNdRsWIKA
https://dl.doubtnut.com/l/_Z8TOpkKJanFA


22. Ionisation Potential increases over a period

from left to right because the:

A. Atomic radius increases and nuclear

charge increase

B. Atomic radius and nuclear charge

decrease

C. Atomic radius increases and nuclear

charge decreases

D. Atomic radius decreases and nuclear

charge increase

https://dl.doubtnut.com/l/_Z8TOpkKJanFA


Answer: D

View Text Solution

23. The elements having the least number of

electrons shells:

A. F

B. K

C. Na

D. Li

https://dl.doubtnut.com/l/_Z8TOpkKJanFA
https://dl.doubtnut.com/l/_6QZwYaMUwQKf


Answer: D

View Text Solution

24. The elements having a lower nuclear

charge:

A. Be

B. Mg

C. Li

D. K

https://dl.doubtnut.com/l/_6QZwYaMUwQKf
https://dl.doubtnut.com/l/_wypCguU3Bmpf


Answer: A

View Text Solution

25. On moving from left to right across a

period of the periodic table, the electron

affinity of the elements in groups 1 to 7:

A. Goes up and then down

B. Decreases and then increases

C. Increases

D. Decreases

https://dl.doubtnut.com/l/_wypCguU3Bmpf
https://dl.doubtnut.com/l/_XQchI7YD2QXo


Answer: C

View Text Solution

26. An element with highest electron affinity:

A. Neon

B. Sulphur

C. Sodium

D. Chlorine

Answer: D

https://dl.doubtnut.com/l/_XQchI7YD2QXo
https://dl.doubtnut.com/l/_0IZixZT4gSjw


View Text Solution

27. An element with the atomic number 19 will

most likely combine chemically with the

element whose atomic number is:

A. 17

B. 11

C. 18

D. 20

Answer: A

https://dl.doubtnut.com/l/_0IZixZT4gSjw
https://dl.doubtnut.com/l/_5GOcMCTJ3oH1


View Text Solution

28. If an element A belongs to period 3 and

Group II then it will have:

A. 3 shells and 2 valence electrons

B. 2 shells and 3 valence electrons

C. 3 shells and 3 valence electrons

D. 2 shells and 2 valence electrons

Answer: A

https://dl.doubtnut.com/l/_5GOcMCTJ3oH1
https://dl.doubtnut.com/l/_bv72SCFYixD1


View Text Solution

29. Which of the following pairs have both the

members from the same group of periodic

table?

A. Mg, Be

B. Mg, Na

C. Mg, Cu

D. Mg, CI

Answer: A

https://dl.doubtnut.com/l/_bv72SCFYixD1
https://dl.doubtnut.com/l/_KMa9RTKjPt0U


View Text Solution

30. An element in period 2 whose electron

affinity is zero:

A. Neon

B. Sulphur

C. Sodium

D. Neon

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_KMa9RTKjPt0U
https://dl.doubtnut.com/l/_ofOeLxaXtvAO


31. Among the elements of period 2 the

element which has high electron affinity is:

A. Lithium

B. Carbon

C. Chlorine

D. Fluorine

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_ofOeLxaXtvAO
https://dl.doubtnut.com/l/_l8OpMu4rzrtr


32. Lanthanides and actinides are also called:

A. normal elements

B. transition elements

C. noble gases

D. inner transition elements

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_l8OpMu4rzrtr
https://dl.doubtnut.com/l/_GzWtLWwJWHyC


33. The elements in which electrons are

progressively filled in 4f orbital are called:

A. actinoids

B. transition elements

C. lanthanoids

D. halogens

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_1IBCy0iU2FO4
https://dl.doubtnut.com/l/_uCdr9XEWFrEi


34. Which of the following types of elements

show variable valency?

A. Transition elements

B. s-block elements

C. p-block elements

D. d-block elements

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_uCdr9XEWFrEi


35. The element with highest ionization

potential is :

A. Hydrogen

B. Caesium

C. Radon

D. Helium

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_pdQrXjNGGg6P
https://dl.doubtnut.com/l/_szUdI5e5SQut


36. Which of the following is a most reactive

element of the group 17?

A. Oxygen

B. Sodium

C. Fluorine

D. Magneshium

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_szUdI5e5SQut


Match The Following

1. Match the columns: 

A. 1-E, 2-D, 3-A, 4-B, 5-C, 6-F

B. 1-D, 2-E, 3-C, 4-A, 5-B, 6-F

C. 1-A, 2-C, 3-F, 4-B, 5-E, 6-D

https://dl.doubtnut.com/l/_bxl1whZ2MYU9


Reason Based Questions

D. 1-E, 2-D, 3-A, 4-B, 5-F, 6-C

Answer: D

View Text Solution

1. Why group IA elements are called alkali

metals?

https://dl.doubtnut.com/l/_bxl1whZ2MYU9
https://dl.doubtnut.com/l/_3U7AxkOY8hrs


A. When combined with water, their oxides

produce acidic solutions.

B. When their oxides and hydroxides are

treated with water, they produce alkaline

solutions.

C. When their peroxides are treated with

water, they produce alkaline solutions.

D. When treated with water, their

hydroxides produce acidic solutions.

Answer: B

https://dl.doubtnut.com/l/_3U7AxkOY8hrs


View Text Solution

2. Why sodium is a metal while sulphur is a

non metal ?

A. Boiling point of sodium is 

B. Specific gravity of sodium is 0.97

C. Sodium has a larger atomic radii

D. Sodium belongs to which group The

Alkali Metals

882.8∘
C

https://dl.doubtnut.com/l/_3U7AxkOY8hrs
https://dl.doubtnut.com/l/_xoWc0WGx7slV


Answer: C

View Text Solution

3. Why are the elements sodium and chlorine

in the same period of the periodic table ?

A. Because the electrons in both elements

are contained in three shells.

B. Because their electronic configurations

are same

https://dl.doubtnut.com/l/_xoWc0WGx7slV
https://dl.doubtnut.com/l/_OBUZd8yYBplv


C. Because their atomic sizes are same

D. None of the above

Answer: A

View Text Solution

4. Magnesium atom is smaller than sodium

atom. Why?

A. Because the electrons in magnesium are

contained in three shells.

https://dl.doubtnut.com/l/_OBUZd8yYBplv
https://dl.doubtnut.com/l/_m8b40XrAM64w


B. Because the electron shells are pulled

inward more strongly in Mg atom than

in Na atom.

C. Because the electron shells are pulled

inward more strongly in Na atom than in

Mg atom.

D. None of the above

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_m8b40XrAM64w
https://dl.doubtnut.com/l/_eZ4q3CYxWQSn


5. Which is larger t or  ? Why?

A.  is larger than Nat because of the

larger ionic radius

B.  is larger than  because of the

larger ionic radius

C.  is larger than Nat because K

belongs to period 4

D. Both are of same size

Answer: C

Na
+

K
+

K
+

Na
+

K
+

K
+

https://dl.doubtnut.com/l/_eZ4q3CYxWQSn


View Text Solution

6. Noble gases have zero electron affinity

values. Why?

A. Nobel gases have same numbers of

electrons at their outermost shell

B. Because they have stable electronic

configuration

C. All of them have equal numbers of

electrons on protons

https://dl.doubtnut.com/l/_eZ4q3CYxWQSn
https://dl.doubtnut.com/l/_ut8iaf4mJZx2


Figure Based Questions

D. None of the above

Answer: B

View Text Solution

1. Given below is the part of Periodic Table : 

 


Hwo does metallic character of an element

change as one moves from left to right in

https://dl.doubtnut.com/l/_ut8iaf4mJZx2
https://dl.doubtnut.com/l/_i7JNEiMl7KKJ


period and top to bottom in group

respectively?

A. From left to right in period, the metallic

character of an element increases. And

from top to bottom in period, the

metallic character of the elements

increases

B. From left to right in period, the metallic

character of an element decreases. And

from top to bottom in period, the

https://dl.doubtnut.com/l/_i7JNEiMl7KKJ


metallic character of the elements

increases

C. From left to right in period, the metallic

character of an element increases. And

from top to bottom in period, the

metallic character of the elements

decreases

D. From left to right in period, the metallic

character of an element decreases. And

from top to bottom in period, the

https://dl.doubtnut.com/l/_i7JNEiMl7KKJ


metallic character of the elements

decreases

Answer: A

View Text Solution

2. The electro negativities (according to

pauling) of the elements in period 3 of the

portion of Periodic Table are as follows when

the elements arranged in alphabetical order: 

 

https://dl.doubtnut.com/l/_i7JNEiMl7KKJ
https://dl.doubtnut.com/l/_nyZBS2laBayx


Arrange the elements in the order in which

they occur in the Periodic Table from left to

right. (The group 1 element first, followed by

the group 2 element and so on, up to group 7)

A. Na, Mg, Al, Si, P, S, C.

B. Mg, Na, Al, Si, CI, P, S

C. Na, Al, Mg, P, Si, CI, S

D. Mg, AI, CI, P, S, Si, Na

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_nyZBS2laBayx


3.  


To which groups do A,B and C belongs ?

A. A belongs to IA group, B belongs to VIIA

group, C belongs to zero group

B. A belongs to IA group, B belongs to zero

group, C belongs to VIIA group

C. A belongs to VIIA group, B belongs to

zero group, C belongs to VIIA group

https://dl.doubtnut.com/l/_nyZBS2laBayx
https://dl.doubtnut.com/l/_d6o9kV9jZFqM


D. A belongs to VIIA group, B belongs to IA

group, C belongs to zero group

Answer: B

View Text Solution

4. Consider the section of the periodic table

given below: 

 

In this table : 

https://dl.doubtnut.com/l/_d6o9kV9jZFqM
https://dl.doubtnut.com/l/_LhithatvQ4PX


B does not represent Boron 

C does not represent Carbon 

F does not represent Fluorine 

H does not represent Hydrogen 

K does not represent Potassium You must see

the position of the element in the periodic

table. Some elements are given in their own

symbol and position in the periodic table.

While others are shown with a letter. With

reference to the table : 

Which is the most electronegative?

A. A

https://dl.doubtnut.com/l/_LhithatvQ4PX


B. D

C. O

D. J

Answer: D

View Text Solution

5. Consider the section of the periodic table

given below: 

https://dl.doubtnut.com/l/_LhithatvQ4PX
https://dl.doubtnut.com/l/_xG9lhjORofUL


 

In this table : 

B does not represent Boron 

C does not represent Carbon 

F does not represent Fluorine 

H does not represent Hydrogen 

K does not represent Potassium You must see

the position of the element in the periodic

table. Some elements are given in their own

symbol and position in the periodic table.

While others are shown with a letter. With

https://dl.doubtnut.com/l/_xG9lhjORofUL


reference to the table : 

How many valence electrons are present in G?

A. 2

B. 3

C. 4

D. 5

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_xG9lhjORofUL


6. Consider the section of the periodic table

given below: 

 

In this table : 

B does not represent Boron 

C does not represent Carbon 

F does not represent Fluorine 

H does not represent Hydrogen 

K does not represent Potassium You must see

the position of the element in the periodic

https://dl.doubtnut.com/l/_hIc5zUgvltPY


table. Some elements are given in their own

symbol and position in the periodic table.

While others are shown with a letter. With

reference to the table : 

Write the formula of the compound between B

and H.

A. BH

B. 

C. 

D. 

Answer: B

B2H

BH2

(BH)2

https://dl.doubtnut.com/l/_hIc5zUgvltPY


View Text Solution

7. The diagram given below is a part of

Periodic Table . Study the table and answer the

questions given below the table : 

 


Name two elements in same group of Periodic

Table .

A. Oxygen and Uranium

B. Oxygen and Sulphur

https://dl.doubtnut.com/l/_hIc5zUgvltPY
https://dl.doubtnut.com/l/_cfF46bthQwGS


C. Calcium and Hyrogen

D. Cromium and Rubidium

Answer: B

View Text Solution

8. The diagram given below is a part of

Periodic Table . Study the table and answer the

questions given below the table : 

 


Name the transition metal.

https://dl.doubtnut.com/l/_cfF46bthQwGS
https://dl.doubtnut.com/l/_XMXtdUTeaXqo


A. Cromium

B. Sulphur

C. Calcium and Hyrogen

D. Oxygen

Answer: A

View Text Solution

9. The diagram given below is a part of

Periodic Table . Study the table and answer the

questions given below the table : 

https://dl.doubtnut.com/l/_XMXtdUTeaXqo
https://dl.doubtnut.com/l/_McHzspWjU0PN


 


Name an element , which reacts vigorously

with water.

A. Argon

B. Boron

C. Calcium

D. Uranium

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_McHzspWjU0PN
https://dl.doubtnut.com/l/_JaogpoLMfrhA


10. The diagram given below is a part of

Periodic Table . Study the table and answer the

questions given below the table : 

 


Which element forms very conrrosive acid ?

A. Chromic acids produced by chromium

B. Oxalic acid produced by Oxygen

C. Calcium carbonate acid produced by

calcium

D. Ferric oxide produced by Iron

https://dl.doubtnut.com/l/_JaogpoLMfrhA


Assertion And Reason Based Questions

Answer: A

View Text Solution

1. Assertion : The ionization energyof Mg is

more than sodium 

Reason : The ionization energy decreases in a

period from left to right.

https://dl.doubtnut.com/l/_JaogpoLMfrhA
https://dl.doubtnut.com/l/_FW5TC6vnS3Pm


A. Assertion and Reason both are correct

statements and reason is the correct

explanation of the assertion .

B. Assertion and Reason both are correct

statements , but reason is not the

correct explanation of the assertion.

C. Assertion is true, but reason is false .

D. Assertion is false , but reason is true.

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_FW5TC6vnS3Pm


2. Assertion: Noble gases are placed in

different group in periodic table. 

Reason: Noble gases are inert in nature.

A. Assertion and Reason both are correct

statements and reason is the correct

explanation of the assertion .

B. Assertion and Reason both are correct

statements , but reason is not the

correct explanation of the assertion.

https://dl.doubtnut.com/l/_FW5TC6vnS3Pm
https://dl.doubtnut.com/l/_r1rAAWhm5Wjy


C. Assertion is true, but reason is false .

D. Assertion is false , but reason is true.

Answer: A

View Text Solution

3. Assertion : The elements of the differenet

group have similar chemical peroperties. 

Reason : It is because they have same number

of valence electrons.

https://dl.doubtnut.com/l/_r1rAAWhm5Wjy
https://dl.doubtnut.com/l/_b6Nf0nOBjbOp


A. Assertion and Reason both are correct

statements and reason is the correct

explanation of the assertion .

B. Assertion and Reason both are correct

statements , but reason is not the

correct explanation of the assertion.

C. Assertion is true, but reason is false .

D. Assertion is false , but reason is true.

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_b6Nf0nOBjbOp


4. Assertion : Metalloids are present in zig -

zag rows in periodic table . 

Reason : Metalloids have same properties.

A. Assertion and Reason both are correct

statements and reason is the correct

explanation of the assertion .

B. Assertion and Reason both are correct

statements , but reason is not the

correct explanation of the assertion.

https://dl.doubtnut.com/l/_b6Nf0nOBjbOp
https://dl.doubtnut.com/l/_NwBWtgXIDnlk


C. Assertion is true, but reason is false .

D. Assertion is false , but reason is true.

Answer: B

View Text Solution

5. Assertion : Chlorine is called halogen . 

Reason : IT is because chlorine reacts with

metals to form salts .

https://dl.doubtnut.com/l/_NwBWtgXIDnlk
https://dl.doubtnut.com/l/_Wid3rhx3DVCg


A. Assertion and Reason both are correct

statements and reason is the correct

explanation of the assertion .

B. Assertion and Reason both are correct

statements , but reason is not the

correct explanation of the assertion.

C. Assertion is true, but reason is false .

D. Assertion is false , but reason is true.

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_Wid3rhx3DVCg


https://dl.doubtnut.com/l/_Wid3rhx3DVCg

